
↳ ottohe

Th

=(0, d) 1<P 9y

- = 4 +
d- x
I

11 I x 1
-U
x f1=

< If(((Rd)

for fied C
-

Stei Hamonic Anolgis
Lich- Lot

Il

Leb
Ster "Singular Integrols .... 70

e

Lemma n = (0 , d)
-

F(x-U) (31 = c 1514
- d

3

I Sai yCd (n) de



Sin
-

e

- !
f(x)d=

22 0

=> ·San
ec!" (9) da

d- Hjde a
· ne

-eI
- Ra ex/*E

d-2 -
913R

= asy(a)) e I

4 - E ete
e

=

-! Wat Fa

=Cy 151
- 8

+D d-2
I "= 2 13

↳ da
3R

E



=
*

(i) e

-=

=(B /H
- d

by
ag
Ix
-H

-1712
i
-E-parteTeze

d- - 913R

=IaEY(a)) s
=

e
I

ne
by 15/2

-d

G = b
Thia ht 1 = (0,) and

-

-.

The qY

I f (2* (RA)
=C If(+1

If Iris
= 1 151 (cid)



PI LThe 1953isx
ef(x) = (2x)

-E Sin ned & (3)

=8 Sid |x -y
-d

g(y)dy

=(x1
-4x
g

Ut (0, d) 12-9

1 = 7.
A- s

= q + a = EI
2

- d-1↳

Il Ax * g
C
- le= 191 (IRd)
-

f
I = I - a

11 + 11 = < (8) I

=<1g( =<11/
=C If

&



Lamena (Interpolation of Sabolar manns)
-

1 - [0 ,
1] k = 1ky+ (1 - 1)k2

We have

11 fl (Ra = Il flEn , Il +Il
P

11 + 11En = / 13R
* /I (9)) d3

Rd
2(1 + 1 - 112=Sa /SR(

,
+mek _)

(f(2))

-Sn 19PR
/ 151)" CISN1814*s

I IC31
*I E 1431 *ID In
s + (1 - 1) = 1

I p + G = 1 P
= 1 , 2

= Es



I
1 filp = (flin

Il
,
2r

Ilsin
se e

If 1+ lik , If ikz
Ther *P = [2,

+ x) > I-
- 0
If cy=< 17 Egy If

1 = d(z - b) )

224 < q*

P Here <1

> - I Ad(z -b)= 1

1-↳



2- 2 =

I - IA)2 - 5)

If /cia = If Fircted)
1 = (1 -1)0 + 1 -1!
= c 1 + 1 If

incieds

p = 4 d = 2
,
3
,
1 = 4

41
= d(z - b) = d

Lear (Gronwall) T > 0

b
, y = L2(0,T) d

,40

↳, - by - (210, 5)

Then
, if ↑(t)

y(t) =Exete)y(idy
a. e. in [0,5]



Athen
y(t) =C e insodel de a

.
C
.

Pf 4(t) = c1+ 2)
-

d(1) y(x)de
-

4'(t) = C d(t)y(t) = (d(t) Y(t)

↑(t) = y(t)
- as

e (4'(t) - cd(t) y(+1) 20

C(t) e-Sx
de

S O
-Sode

e-
s
! ddge I (t)- -

"
So cede

.y(t) = C e



T< 0 + : [0 ,T]
-H (d

,
MY)
-

d=2
,
3 f = Pf tis-l

i-Au= f 1.
, 4>

0 . 4 = 0E u(0) = 4. = LP4,
1R")
-I

- H

Def Fa 11 and fe[(To,T],H
-

IS I f(e ,

dtE

f = Pf
.

Then u is a solution

ut (P)[0,+) , Hil)
Due L ([0 ,T]

,
+1+2)~

u i Ci([o ,T],#
>ult

,
b> = ( [0

,
1
,
1) Yo = +

- 1

i H- M

an
is for 4 = CI (50 ,+3+MY, (4)

&LUCH ,4(t) = < Un,YlOK + 4Ct)=I
E

+ (<Ct') ,0 YA +(ult'1, 2 4(t'>L



Le mett(dt"

E
i-Au= f ↑ = /20,3
0 . 4 = 0

u(0) = 4. =L s- 1< -(1-1)

t -

S(w, - (a , 1Y)=,
(((, x - xu, 24)) =

=((<+ , 4) + (u ,Ay))

<ult , THtK-< Yo,40)>=

=(t)< ,
4 + u

,
Ay) + (n

,
24)

Thor There exist and is unique
-

a wook solution
.

Furthermore

a natiies the enagy equality

lucist2) Ondt
=InE+2/f, dt



(<,8+ 1
= <1317

, 191
(
n)

Fur themd ne ( [0,T]
, Fi)

- t(3)2
i(t) = e +felt-t'113 (t!2 / At

MLt) = etBust- elt-t'4 f(t') dt


